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Requester Data:

Name: Dr. Hany Samy Mansour
Authority: Faculty of Pharmacy,
Assiut University

Sample Data:

Twelve samples had been submitted for elemental analysis.

Analysis Report:

Sample Code C% H% N%

Bb]—>| P | 66.47 4.75 8.8

7b Jem—3|  [7D 76.59 5.89 5.13

Bc |——3h" e L BRTH 5.49 8.57
INVESTIGATOR
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Al-Azhar University Campus - Nasr City, Cairo, Egypt.
Tel: 0202 22620373 Fax: 0202 22620373
E.mail: remb@azhar.edu.eg

Website: http://www.azhar.edu.eg.htm * http://www.azhar.edu.eg/pages/fungi_center.htm
Facebook: RCMB AZHAR P.O. box mail : 11751 Nasr City Cairo, Egypt.
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. Al-Azhar University
The Resiong Ceytr Mycelogy and Bigtechnelog

Requester Data:

Name: Dr. Hany Samy Mansour
Authority: Faculty of Pharmacy,
Assiut University

Sample Data:

Twelve samples had been submitted for elemental analysis.

Analysis Report:

Safmml‘ile Code ‘ 7\ T [ H% N%
5d 62.89 4.58 8.45
ba |—> 5a 70.41 4.23 Lol
7a 1997 5112 4.48

DIRECTOR

Al-Azhar University Campus - Nasr City, Cairo, Egypt.
Tel: 0202 22620373 Fax: 0202 22620373
E.mail: remb@azhar.edu.eg

Website: http://www.azhar.edu.eg.htm * http://www.azhar.edu.eg/pages/fungi_center.htm

Facebook: RCMB AZHAR P.O. box mail : 11751 Nasr City Cairo, Egypt.
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